Equal 16 step grey scaling betweeld* \, and L*, for three reflections of ambient light

No ambient reflection Yy=0, L*\=0

L* lightness differenceAL*=6,3

100+ no. wr o wr o LYt L're Yre
O 16 10 10 954 954 8859
15 0933 0933 89.0 89.0 74.27
80 14 0866 0.866 826 82.6 6158
13 08 08 763 763 50.42

12 0.733 0.733 69.9 69.9 40.7
11 0666 0.666 636 63.6 32.32
60T ® 10 06 06 572 57.2 2517
@® 9 0533 0533 508 508 19.17

@ 8 0466 0466 445 445 142
40— @® 7 04 o4 381 381 10.18
@ 6 0333 0333 318 318 7.0

. 5 0.266 0.266 254 254 456

20+ @4 02 02 19.0 190 276
@ 3 0133 0133 127 127 151

@ 2 0066 0066 63 63 07

O- @1 00 00 00 00 00

Ambient reflection Yy=2,5,L*\=18

lightness differenceAL*=5,1
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lightness differenceAL*=1,7
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ISO/CIE 11664-4: L*j; = intended CIELAB lightness of output
|EC 61966-2-1: w*sRpGBIS approximately proportional to L*
W*sRGB= L*/95,4; wrp = [L*-L* ] / [L*\w-L*N]

L* e = real lightness of output without output linearization

Ambient reflection Yy=40, L*\=70
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